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02 7|EtAES 279,220 261,598 17,622
HHEFZD 279,220
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O 71544 4,800
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- 7|EPIE 60,000 x4Hx12E = 2,880
O AlztelRRsg 32,701
- 23H0[A-30A0| 2t 11,7744x3Yx55A|2tx 128 = 23,313
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- 22y 140,00094x2Fx 122 = 3,360
- §HR I 2,658,770¥x2Hx50%x23| = 5,318
-7ESY 40,000€x2Ex12% = 960
- AlZtR224g 2,658,7704/226x1.5x2Ex45A|2tx12% = 19,059
- datgIted 2,658,770/226x8x2Hx16Y = 3,012
106 223 AH| 7,320 6,480 840
02 ZZEZRH| 7,320 6,480 840
O ¥z 7,320
- &% 155,0002x3Ex 128 = 5,580
- AL 145,00094x1Ex 122 = 1,740
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201 YEtREH| 77,035 64,835 12,200
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202 O 4,800 4,800 0
01 =y 4,800 4,800 0
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O E4d O{atAL WA 30,000,000§x2744 = 60,000
O g+ gesez| 28 22|89 5,000,000@x274 = 10,000
O d4d 85017 Y| 30,000,000&x274 = 60,000
O 4 257 B2 A2 5,000,000% = 5,000
O UL HAZ| nA 100,000,000¥ = 100,000
O UL HEZ| 22F WA 40,000,000 = 40,000
O &k Ald=E EH|7|AKY 30,000,000& = 30,000
O d48 71A4d3| =4 10,000,000 %274 = 20,000
O deHe|Ad RAlH| 5,000,0009x2714 = 10,000
O 28 Y HIO2|H| 5,000,0009x271 4 = 10,000
O da &2lA RAH| 5,000,000¥x27H 4 = 10,000
O =HO| 43S 2714 ZUekH ZIt 16,000,000@x2744 = 32,000
215 SHH| 132,000 144,000 212,000
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713 Hi-2<H| 2,906,332 2,796,759 109,573
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100 QlziH| 211,722 191,149 20,573
101 QlH| 211,722 191,149 20,573
03 SI|ALZZ22HE 211,722 181,129 30,593
CHAMEIAL L RIAH2| 22> 211,722
o 71eg 2,841,140¥4x4Hx12% = 136,375
oY 75,347
- 2RYHLY 140,0009x4Ex12¢ = 6,720
- AR 2,981, 140¥x4Ex50%x%238]| = 11,925
-71E4Y 80,0004 x12¢ = 3,840
- AlRtRIZR 4G 2,981,14094/226x1 5x4Bx45A|2tx12¢ = 42,739
- HatgIteY 2,981,1409/226x8x4Ex20Y = 8,443
- ZH4 BH| B R4 GH D S3tm) 420,000x1Ex43| = 1,680
200 =] 2,686,610| 2,597,610 89,000
201 Y2 176,930 170,930 6,000
01 AtRaeH| 59,330 59,330 0
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O #4=AIE2 (1Y) RAI#2 84H  2,000,000&x 10714 = 20,000
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OFxE SHEM A 30094x10,0008 = 3,000
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O RI[A oA L= d 40,000¢x11Hx12& = 5,280
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O 2242 AZ7| L PDA RAES 6,000,000% = 6,000
300 Z4o[H 246,816 252,174 5,358
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10 WAILHIEHS 504 504 0
O+ g U 39| FAH| 7,00094x18Hx43| = 504
307 gizto|d 246,312 251,670 5,358
13 RIZtAAES ||| 246,312 251,670 5,358
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03 A4Sy 3,752 15,369 A11,617
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801 ofjs|y| 193,550 650,000 ~A456,450
O o=y 193,550,000% = 193,550 193,550 650,000 ~A456,450




